
45-05314

REF QTY PART NO DESCRIPTION

1 1 2-819BL3 TUBE, STAND

2 1 2-551BL3 TUBE, LOWER HANDLE

3 1 28611 AXLE, 1/2" OD HOLLOW

4 2 43088 WASHER, .312 X .734 X .065

5 1 43093 PIN, COTTER 1/8 X 1-1/2

6 2 43648 BOLT, HEX 1/4-20 X 1-1/2 G5

7 1 44101 PIN, COTTER 3/32 X 3/4

8 1 47316 BOLT, CARR .25-20 X 2.25 

9 1 45360 CABLE, CONTROL (PUSH)

10 1 45504 IMPELLER

11 1 45505 PLATE, FLOW

12 2 45702G WHEEL & TIRE ASSY 4.10/3.5-4

13 2 45705 SPACER, PLASTIC EXTRUSION

14 1 47994BLK HOPPER

REF QTY PART NO DESCRIPTION

15 1 47063 PIN, COTTER 5/32 X 2.0

16 1 47141 NUT, WING 1/4-20 NYLOC

17 8 47189 NUT, HEX 1/4-20 NYLOC

18 2 47963 BEARING, HEX FLANGE .50 ID

19 1 48934 HAIRPIN, AGITATOR

20 3 49449 PLUG, 1"OD TUBE

21 1 6-1057BL3 ASS'Y, FRAME WLDM

22 1 44589BL3 HANDLE, TUBE (SHORT)

23 1 69209 ASS'Y, GEARBOX

24 3 R19171616 WASHER, .531 X 1 X .059

25 1 28662BL3 TUBE, HANDLE

26 2 44482 GRIP, HANDLE 1" ID

27 6 1509-69 BOLT, HEX 1/4-20 X 1-3/4 GR5

1 3-326 OWNERS MANUAL

 ...................................................................5

ENGLISH ...........................................................7

 ..........................................................8

 .........................................................9

 .........................................................10

 .................................................11

 ........................................................12

 ...................................................13

 ......................................................14

 .............................................................15

 .............................................................16

 ........................................................17

 ..............................................................18

 ............................................................19

 ..........................................................20

MAGYAR ..........................................................21

 ........................................................22

SLOVENSKO ...................................................23



45-05314


